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14° 0.2419 0.9703 0.2493
15° 0.2588 0.,9859 0.2679
16° 0,2766 0,9613 0,2867

sin x = 0.2766 , tany = 0.2493

@ 28° @ 29° 3 30° @ 31° ® 32°



e sin cos tan
44 0.6947 0.7193 0.9657
45 0,7071 0,7071 1,0000
46 0,7193 0,6947 1,0355
O 1.022 @ 6.947 ® 7.071

@ 9.567 3 10.355



12.

oh5 19 0] HPAPAT ABCD oA
AB = 6cm , BC = 10cm , /BCD =
120° 4 wf, AC o] Zo]=?

® V67 @ V71

® 2v19 @ 36

& V95




13. o2 1989 ¥ 0 94 OD = OE ,
/CAB =40° & o, /ACB &] 3717

@D 50° ® 55° ® 80° @ 95° ® 100°



14. & T84 9 0 = AADE o YH Yol1, BC = ¥ O o Hgteh
AD =6cm , AE = 7cm , DE = 5cm € U, AABC 9] Ed|9] dol&
oA 2.




15.

thS IFoA ¥ 0 WHYol
D,E,F &= ZF A& Aol AB
CF

9, BC = 17, AC = 15 & 0,
dol=?

D9 @ 10.5 @ 11
@ 11.5 3 13




16.

o 1" ¥ O+ AB
26cm, BC = 24cm, AC
10cm o]l /C = 90° ¢l Az}
A7kedol vl el it v

2 09] WAF2| Pol?

@ lem @ gcm ® 2cm




17. cosAzg 9 1), Gsin A x tan A 9] ZH2? (T, 0° < A < 90°)

D 2 @ 3 B 4 @ 5 B 6



18.

Aoltt. 44

= 3 X2
g, —=x—=F
X1 Y4

g9 2

ol7h 1 9l AR YT} RS
I, m o x %3} o] 2 d|z}e]

Aozt




19. 0°<x<90° ¥ o, 2sin’x — 3sinx+ 1 = 0 = TEA]7]= x 9
@29

@D 0° @ 15° 3 30° @ 45° 3B 60°



20.

o2 283 2 A4S BeFe]
g2 ABCD 7} =3 Ho] tfjs}o]

15° B 71014 gt o w, 4
AFZF4 EBCF ©] o]

@ 48 @ 48V2 ® 4843 @ 48v5 (B 486



21. ohg 193} 2ol 49| 20l7} 50em 91 WA A oA 255}
31 9le. o] Ao] A% 41 OR 9 30° o] ZHEg o] 29 1, Fi=
AGE 71202 ste] @ em ©] olo] YA

@ 50 1+\f)cm @ 50 2—?>cm
® 50 1—? cm @ 50 2+\;§>cm
® 50 1—£ cm



22. & O3 22 AABC oA /B = 45°, /C =60°, BC = 60cm ¥
o, AH ] Zo]E F5}H?

BC
@ 30(2- v2) em @ 30(4- V2) em
® 30(2- V3) cm @ 30(3- V3) cm
® 30 (4~ V3) cm



23.

o2 2HI 22 AABC oA
AB = 6cm, /A = 30°, /B = 45°
d o, AABC 9] 0] h & 5}

2t A

C
"
30° % 45°
- H -
~--6cm---~
® 3(v2-1)



24.

th2 AABC oA &0] h=?




22 A7 ABC © Hol7F30vV3 4, AB ] Aol=?

A

60°

~-_{9----

® 13 3 12 @ 11 ® 10



30°

~--12cm--~

@ 1243 (cm?) ® 2442 (cm?)

D 122 (em?)

® 246 (cm?)

@ 243 (cm?)



27, o3 193 72 v R ABCD A
oA AB=3, /A =120° ¥ o,
g o] yol=?

@D 33 @ 43 ® 345 @gx/ﬁ ® 543



28. o2 1H¥ e A
ABCD 2] Ho]&?
D 30V3 ® 313
® 3243 @ 333
® 343

7}

K




7} 16cm ¢ ¥o] dRojrt. AB = 8cm
°]a1 CD ¢] Aol 99 4= A
i, CD 9] ZAol=?

@ (2- V2)em @ (2V5—4)cm
@ (8-=43)em ® (64 2V3)em

® 3cm



30.

oS 1Yo PA, PBE=Y 0 9 HAo|1LOP = 17cm, OA = 8cm
A uff, AOPB 9] Yl o]& F5toiet



31. t©& 1¥el4 AB, AD, BC &= 5t 0 9 A Y o, x o] gh-2?

_-5em .

® +5em @ 2+5cm ® 24/10cm
@ +/15cm ® 2+15cm



11 A

@ tanA =
® cosB = g\/m

5 tanB = 3

N =

2 13 9] A ZHAF7F

=1

% ABC °l|A th=

V10
10

@ cosA:%\/ﬁ

@ sinA =



ol My
N\ oju

R ol

ol

ook

QO IT
I

O cos A
® tanA

IloolIIRNIT

@ sin A
© cosB
© tanB




34. cosA:Z A o], sinA + tanA ©] 27 (T, 0° <A <90°)
3V7 57 VT 57 VT
@ 4 @ 4 ® 4 12 ® 12



a2l PA =8cm, OM = 8cm,

nH

-

mA

8c

cm



